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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1.  gegef gayem 799 939 U3 W AHieh Afqerdd; fad |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T TA & fet 9 U wUR § fRdt yeR @t 3fe / o / fadienae g
TR fe=t 91 & I¥ 0 W1 AN |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version
should be treated valid.

3. WUt W A € | U9 wHiw 21 H TR faweu T
All questions are compulsory. Question No. 21 has internal choice.

4. TAH G H S S T ST § & ford |

Write the answer to each question in the given answer-book only.
5. TS99 & T 9 Al gaH 3 9 9 €, 39 94 9F R € Uk WY

Haq fag |

For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in continuity.

6. U HEN 29 5 TH 3 ALIIHE § |

Question Nos. 2 to 5 are very short answer type questions.
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7. UIT HEA 16 I UTH T3 W &l & he |

Question No. 16 is to be attempted on graph paper only.

8. SW-Yfas & T & TNl IR faf@u | afe #1E T w1, @ -
qfdert o STfaH 8 W & AR T TSt @Al § & & 39 W
‘1 Rl siferd T |
Write on both sides of the pages of answer-book. If any rough
work is to be done, do it on the last pages of the answer-book.
Write the word "Rough Work" by crossing it with slant lines.

9. U AR 1 IR 9N (i, i, ili T iv ) € | T 9 F SW F 9R
fawea (A, B, CWd D) ¥ | Ot fasmeq &1 SA0eR SW-gide § fF=gar

arfetent s fad :

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

O i W& 3T T hATER
. Correct letter of
Question No.
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
1. O 3R f(x) = 2x+xﬂ  X=O0OWTI@E, AF(0) FAFT
A O B) 1
c 2 (D) 3
If f(x) = 2X+xﬂ is continuous at x = 0O, the value of
f(0) is
A O B) 1
C) 2 (D) 3. %
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d(x?*)

(i) I HAE T
@A) xx-! (B)
A x* log,(ex) (D)
X
The value of %
X
@A x*-1 (B)
A x* log,(ex) (D)
(i) JCO\S/_X dx & AE ¥
X
A) 2sinyx +c¢ (B)
(C) sinyx +c (D)
The value of JCO\S/_\/; dx is
X
A) 2sinyx +c (B)
(@) sinﬁ +c (D)
X _p—-X
(iv) J% dx‘ch"[tﬂ:[%
e*+e
(A) log (e*-e™™) +c B)
(C) x—-cothx+c (D)
X _p—-X
The value of J% is
e*+e
(A) log (eX-e ™) +c (B)
(C) x—-cothx+c (D)
d coszx—sinzx] A
2. dx COS X + sin x T HT ST !
2 . in 2
Find the value of % [COS ad s%n ad
coSs x + sin x
eX_e~X
3.  Lim 1 HE A1Q HifST |
x—=0 X
X_e~X
Evaluate Lim
x—=0 X
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log

log ,

log, x

N =

log ,

—2511’1‘\/)_( +c

— sin Yx + c.

—2sin‘\/; +cC

—sinﬁ + C.

log (eX+e ™) +c

X + coth x + c.

log (e*+e ) +c

X + coth x + c.

N =
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4. TH HA 97 IAE 10 To fd 3k & fedqe & J=dt & | et i fEeR
@A 35,000 %o ¥ TH 9t AN Fal 3T i 30% & | Tl AN BeH Ad

IS |

A company sells its product at a price of Rs. 10 per unit. If the fixed

cost of the company is Rs. 35,000 and variable cost is 30% of total

revenue, find total cost function. 1

5. 79 7ohal GHIHIO € HifSU
dy .2 2
dx = Sin X + COS X.

Solve the following differential equation :

dy _

.2
= sin
dx

X + cos? x. 1
6. ZI'Fc‘{yzlog(secx—tanx)?ﬁgx—y 1 /M 1A HIST |

If y=1Iog(secx - tan x ), then find the value of gx—y . 2

7. A€ e
flx) = ,x = 2 W Had &, @ i KT HE JQ

ST |

If the function
S(x) =

is continuous at x = 2, find the value of k. 2

8. 79 %ol &l x = 2 T STehai=Idl hi Sd HITST :
{x+2 , 0 < x < 2

Sflx) =

2

X“+x-2, x > 2

Test the differentiability of the following function at x = 2 :
X + 2 , 0 =x =< 2
J(x) =

2

X“+x-2, x > 2
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10.

11.

12.

13.

14.

5

tan - ! [“tﬂ] HT x F U FThe FIAT |

1 - tan x

1 + tan x

T —tan x ] with respect to x. 2

Differentiate tan ~! [

f elogecosx.Zsinxdx T HM I HiTST |

log , cos x

Find the value of f e . 2 sin x dx . 2

AW

11 e 1 x % Griel THIREH SIS
x2+1
x*+1

Integrate the following function with respect to x :
x2+1
x*+1

f dx &1 A @ BT |
V4 + 3x — 2x 2
dx

Find the value of J . 2

V4 + 3x - 2x ?
x THTS I HTH W Teh HIA i FAA @ ¢ = 50 + 0-10x 2 § | HEEAT
I x THE IR T W HA 3 R = 2x Tl © | A 1 fohadl sehrgal &1
3G HEAT TMfeq arfeh ey 2Afeehdw Bl ek ?

The total cost of a company for producing x units is ¢ = 50 + 0-10x 2 .
The total revenue of the company on sale of x units is R = 2x. How

many units should the company produce for maximum profit ? 2

Teh IS i x IH1E Scdlied i & fow g &rTd %o €

MC =5 + 10x - 3x2 | 3fg < 3 ScUfGd HTH I Fol AN 22 Fo &, al
F AN Teld Td Ed ANTd Held J1d it |

The marginal cost for producing x units of a product is

MC =5 + 10x - 3x 2. If cost of producing two units is Rs. 22, find

total cost function and average cost function. 2
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15.

16.

17.

18.

19.

20.

6

T SAEH i HH 3T ®ed MR = 100 - 2x € | Fa 3 # fovat gfg
TN If¢ ITET 10 $HIE F TR 20 TR L fedr S ?

The marginal revenue function of a manufacturer is MR = 100 - 2x.

What will be the increase in total revenue if production is increased
from 10 units to 20 units ? 2

=1 w1 UTE Eifed .

y =% cos 2x, x€[-m =w].

Draw the graph of the following function :

y=%cos2x,x€[—ﬂ,rr]. 3
m/2
cos x dx S
J(1+sinx)(2—sinx) 1A 3T !
0
/2
Find the value of J .COSXdX - 3
(1 +sinx)(2-sinx)
0
TRIAT y2 = 4x 3N WITT x 2 = 4y & o= FH GIB J1d BT |
Find the area common to the parabolas y? = 4x and x? = 4y. 3
2 .
T SCH T*'['H'I"TWp:lO—% %@mm‘—rc:t‘)x+;—o ¥ el

x ITUEA H1 AET W p Ufd S T € | 3R &t fohd AN & fow Seureeh
1 TN SATYHAA B ? Afehdd H ot J1d HIfS |

The demand function of a product is p = 10 —% and cost function is
2

c=05x+ ;—O , where x is the production level and p is the price per
unit. For which level of production, will profit of the producer be
maximum ? Also find out maximum profit. 3
TH IARE &l x THEEA & AU IR R fauom #® A @
c(x)=200x2 + 3500x + 10000 T | Afc Ufd s&E o1 fasha &7 6,500
Fo I, €l eN9-IH Ied fag A1 wifsg |

The total cost of manufacturing and marketing x units for a

manufacturer is ¢ (x ) = 200x 2 + 3500x + 10000. If the selling price
is Rs. 6,500 per unit, find break-even point. 3
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21.

22.

23.

24.

25.
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W

REq eTaehel THIRIO B HITIT ¢

o o

(]

dy
3YAT

frfafad STase THIRl B SHifaT

xZSX—y +xy = 1.

Solve the following differential equation : 3

dy
a + Xy = X.

OR
Solve the following differential equation : 3

d

xzay
11w o AT Tt 982 =61 Hears i
f(x) =x2?2 -5x+6, x€[2, 31
Verify Rolle’s theorem for the following function : 4
f(x) =x2-56x+6, x€[2, 31
M I hifT
[ 1 4 9
1+n% 8+n% 27+n°

+xy = 1.

Lim
n—o

Find the value of

Lim [ 1 4 9 + .. + n terms ] 4
m
3

+ +
n—-w L1+n3 8+n3 27+n?3

MW%Wf(x)=sinx(l+cosx),1%|§x =
g

Prove that the function f(x)=sinx (1 + cos x ) is maximum at
X = % . 4

frfafaa afooft =t gera & 25 o &t g & AT gR T afiE IS
T Ja I :

g 20 24 28 32
anftier W 1427 1581 1771 1996

Find out the annual net premium of the persons at the age of 25 years
from the table given below : 4

Age 20 24 28 32
1427 1581 1771 1996

Annual net premium
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